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• Economy exists forever, but people live for two periods (Y,O) 
only;

• Single tradable good (real ER always equal to 1);
• Prices fully flexible;
• Income of a representative household            falls down from 

heaven;
• No assets or debt when a person is born.
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Euler Equation Again…
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• Impatient people 
consume more when 
young and less 
when old;

• Consumption 
depends on life-time 
disposable income.



Consumption Level
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Example – consumption level
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• Result much different compared to the infinite horizon.
• What works as the borrowing constraint?
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Remember infinite horizon – 
Impatient People
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Government
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„Twin Deficits“
(Ricardian equivalence)
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Empirical Evidence

• There is some evidence of „twin 
deficits“ for 1981-86, both for the 
US and industrial countries in 
general.

• It worked for German 
re-unification, too.

• What about the 
US now ???

http://www.cesifogroup.de/pls/guestci/download/EEAG%20Report%202006/eeag_report_chap2_2006.pdf


Savings and CA
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Savings and Growth
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Global Savings/Investment Imbalances



Global savings/investment 
imbalances 

● Alan Greenspan’s “conundrum” (2005 Testimony to the US Congress)
● When the Federal Reserve started to increase the federal fund rate in 

2004 the long-term bond rates did not increase but declined further
● “ … long-term interest rates have trended lower in recent months even 

as the Federal Reserve has raised the level of the target federal funds 
rate by 150 basis points. This development contrasts with most 
experience, which suggests that, other things being equal, increasing 
short-term interest rates are normally accompanied by a rise in longer-
term yields.” 



Alan Greenspan’s “conundrum”

US Nominal interest rate
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Bernanke’s “savings glut” (2005)
● Asian countries (but not only 

them) moved from current 
account deficits to surpluses
– Reaction to the Asian 

crises in 1997
● Accumulation of foreign 

reserves
● Substantial decline in  

consumption/GDP ratios



Global imbalances are seen as the main cause of 
the recent bubble (Portes, 2009)

● Inflow of capital to countries with the most 
developed financial markets
● Capital flowing ‘uphill’

● Financial sector’s response
● Search for yield
● Financial engineering

● Easy monetary conditions
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John Taylor view 
● Summarized in

THE FINANCIAL CRISIS AND THE POLICY 
RESPONSES AN EMPIRICAL ANALYSIS OF 
WHAT WENT WRONG

NBER Working Paper 14631
http://www.nber.org/papers/w14631
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John Taylor opposite view
● Easy monetary 

policy in 2001-
2005

● Actual interest 
rate (federal funds 
rate) below what 
is implied by the 
Taylor rule
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John Taylor view
● No global saving/investment imbalance

Source: World Economic Outlook, IMF Sept 2005, Chapter 2, p. 92
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John Taylor view
● Monetary policy 

was too easy in 
more countries

● The easier the 
policy was the 
higher the 
housing 
investment

R. Ahrend, B. Cournède and R. Price: "Monetary Policy, Market Excesses and Financial Turmoil", OECD Economics 
Department Working Papers, No. 597, March 2008.



23

Ben Bernanke’s response 
● Summarized in

Monetary Policy and the Housing Bubble
At the Annual Meeting of the American Economic Association, Atlanta, 

Georgia, January 3, 2010

http://www.federalreserve.gov/newsevents/speech/bernanke20100103a.ht
m
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Ben Bernanke’s response 

Ben Bernanke: „ Monetary Policy and the Housing Bubble ", At the Annual Meeting of the American 
Economic Association, Atlanta, Georgia, January 3, 2010.
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Ben Bernanke’s response 

Ben Bernanke: „ Monetary Policy and the Housing Bubble ", At the Annual Meeting of the American 
Economic Association, Atlanta, Georgia, January 3, 2010.
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Ben Bernanke’s response 

Ben Bernanke: „ Monetary Policy and the Housing Bubble ", At the Annual Meeting of the American 
Economic Association, Atlanta, Georgia, January 3, 2010.
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Ben Bernanke’s response 

Ben Bernanke: „ Monetary Policy and the Housing Bubble ", At the Annual Meeting of the American 
Economic Association, Atlanta, Georgia, January 3, 2010.
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Ben Bernanke’s response 

Ben Bernanke: „ Monetary Policy and the Housing Bubble ", At the Annual Meeting of the American 
Economic Association, Atlanta, Georgia, January 3, 2010.



 Summary
• Aggregate consumption can be constant even if 

(1+r*)β≠1 ⇒ more realistic CA prediction than the infinite-
horizon model;

• One-off positive/negative shock leads to a temporary CA 
surplus/deficit;

• Ricardian equivalence does not hold ⇒ debt financing leads 
to CA deficit („twin deficits“);
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